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ZH (FhE UEAIIE ERY = ,H,, = 45571X[0|C},
ZH (7HE HEANT = ERY £ Fots A T2| 0| LULL.

2. XA (Lh2 EXL (LHE ‘a=2 E= a+b+c=10"Q AFAHOICE (FD N (LHE BEEAF =
&M% (a,b,c,d)Q JHEELE (7)) N (LD TS HEAT = &M% (0, b, ¢, d) Q] THEZE 75177}
M 2] HOIC}
a=291 AR &= ph+c+d =109 2R 0|22 ,H,, = ,,C,y = 1,C, = 660|L}.
a+b+c=109 ARO| &= OIEIIX|Z ,H,, = ,,Cyo = 1,Cy = 660|L}.

OIX|2OZ =201 a+b+c=10Q ARL = b+ =80 ALQ| H0|22

oHg = Gy = ¢C, = 90|,

MEtM o = 20|HLt a+b+c= 1091 At4Q AR &=

2X 66— 9 =1230]|LC},

25 OHEs}

rir

PR = 455123 = 3320]C}.

&7 STANDARD

B2 332!



— CiIAMI(13) 218t 62 HIHH Lig 27H N
& 20 MSATE Fol obd A a, b, ¢, d9 BE A (a, b, ¢, )9 NTE
TEhAl L. [44
b a+b+ec+d=6
(Y1) a, b, ¢, d TAA Hox sy 00|t}
\ J

YXI5t7| 2ol ‘SO0l ofd F='0ff S22t0] XFERf =
He = fIIOIEt.

2. OJAHZAO| O HER? (Lh & a, b, ¢, d BE XpASQ1 AFAHOICE. (ZD N (LHE o =
d)o| J$BLH(7) N (LY S BEAF = 2M% (0, b, ¢, d)2] 32 7517|7}

I -IMI‘ ((l, ba C,

W 29 22l

3.0DN(LHE a+b+c+d=6 (@>=1,b>1,c>1,d>1)2

(a, b, ¢, d)2] JH5=0]C}.

h N (L ol sists A9 +& H, = 107kX|0|Ck.

2 (DB ATl ZR0l 4t

—=

SAO AFAT = =AY

et 24 (7, ZA (LHE SAl0| HEA7 = B2l = 84— 10 = 740|Ct,

L
rlo

7411

orbi.kr 61



—  OI%I(14) 2014 78 DR 28

A X={1, 2, 3, 4, 5, 6}l td}e] g5 f: X—> X FoA g 214 A7)
£ NS FekA L. [44]

i
u
ol

(7B f3)x f(6) 2 3 2] wjg=o]t},
() F3F x o] doe] F Az, ol Hato] zy <z, 0¥ f(z))= f(x,) ol Th

62

7189 mEs1t =1 7 STANDARD



1

a

CEA( A
A LWHAM fD) < f(2)< f(3)< f(4)< f(5)< f(6)0
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7(6)9] 2k 4

elro| M= JHy, =10 1
f= £(6)° 3 5

B0 JHA JH, =10 ,H, =3

f(6)9] 2t 5
= a4 H, =15 )

orbi.kr

63



fB)=1¢ o 3=
f(3)=2% [ &=
f(3)=4Y O 3=
f(3)=5¢ 0 3=

(AN B)=29+51+

Ol A= 1+3+10+15=29
O A= 3+18+30=51

9 7i4E 10+ 30 = 40

o |4 150|122

40+15=1350|C},

3.2(AN B)=n(B)—n(A°N B)= 462 — 135 = 3270|L}.

OE 20|

1. f(6)=6Y Iff (H; = 2520|LC}.

2.

7(6)7= 6 I
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